

TTV Hernandez

9/18/17

$$\begin{aligned}\frac{\partial}{\partial \beta} G_2 &= -\frac{1}{\beta} G_2 + \frac{5}{2} \frac{\sin \sqrt{\beta} s}{\beta^{3/2}} = -\frac{1}{\beta} G_2 + \frac{5}{2\beta} G_1 \\ &= \frac{1}{2\beta} (5G_1 - 2G_2)\end{aligned}$$

$$\frac{\partial}{\partial \beta} G_3 = -\frac{1}{\beta} G_3 - \frac{1}{\beta} \frac{\partial G_1}{\partial \beta} = -\frac{1}{\beta} G_3 - \frac{1}{2\beta^2} (5G_0 - G_1)$$

S_0 ,

$$\begin{aligned}\delta S = \frac{\delta \beta}{2\beta r} \left[2h - r_0 G_1 - r_0 s G_0 - r_0 \dot{r}_0 s G_1 - \frac{k G_1}{\beta} + \frac{k s G_0}{\beta} \right] \\ - \frac{G_3}{r} \delta k - \frac{G_1}{r} \delta r_0 - \frac{G_2 r_0}{r} \delta \dot{r}_0 - \frac{G_2 \dot{r}_0}{r} \delta r_0\end{aligned}$$

$$\delta \beta = \frac{2}{r_0} \delta k - \frac{2k}{r_0^2} \delta r_0 - 2 \underline{v}_0 \cdot \delta \underline{v}_0$$

$$\delta \beta = \frac{2 \delta k}{r_0} - \frac{2k}{r_0^3} \underline{r}_0 \cdot \delta \underline{r}_0 - 2 \underline{r}_0 \cdot \delta \underline{v}_0$$

$$f = 1 - \frac{k}{r_0} G_2$$

$$\delta f = -\frac{\delta k}{r_0} G_2 + \frac{k}{r_0^2} \delta r_0 G_2 - \frac{k}{r_0} \left(\underbrace{\frac{\partial G_2}{\partial s}}_{G_1} \delta s + \underbrace{\frac{\partial G_2}{\partial \beta}}_{\frac{1}{2\beta} (5G_1 - 2G_2)} \delta \beta \right)$$

$$\delta f = -\frac{\delta k}{r_0} G_2 + \frac{k}{r_0^2} \delta r_0 G_2 - \frac{k}{r_0} \left(G_1 \delta s + \frac{1}{2\beta} (5G_1 - 2G_2) \delta \beta \right)$$

TTV Fast Herander

9/2/17

$$H = \sum_i \left[\frac{1}{2} m_i v_i^2 \right] + \sum_i \sum_{j>i} \left[- \frac{G m_i m_j}{r_{ij}} \right]$$

$$\frac{m_i}{m_i + m_j} + \frac{m_j}{m_i + m_j} = 1$$

$$(\vec{v}_i - \vec{v}_j)^2 + (\vec{v}_i + \vec{v}_j)^2 = 2v_i^2 + 2v_j^2$$

$$\frac{1}{2} (m_i + m_j) V_{ij}^2 = \frac{1}{2} (m_i + m_j) \left(\frac{m_i \vec{v}_i + m_j \vec{v}_j}{m_i + m_j} \right)^2 = \frac{1}{2} (m_i + m_j) \frac{m_i^2 v_i^2 + m_j^2 v_j^2 + 2 m_i m_j \vec{v}_i \cdot \vec{v}_j}{(m_i + m_j)^2}$$

$$\frac{1}{2} m_i v_i^2 + \frac{1}{2} m_j v_j^2 = \frac{1}{2} m_i (\vec{v}_i - \vec{v}_j)^2 + \frac{1}{2} (v_i + v_j)^2$$

$$H = \sum_i \frac{1}{2} m_i v_i^2 + \frac{1}{2} \sum_{j \neq i} \mu_{ij} \left[- \frac{G(m_i + m_j)}{r_{ij}} \right]$$

$$\frac{1}{2} \mu_{ij} v_{ij}^2 + \frac{1}{2} (m_i + m_j) \cancel{V_{ij}^2} \quad \text{Com}$$

$$= \frac{1}{2} \frac{m_i m_j}{m_i + m_j} (v_i^2 + v_j^2 - 2 m_i m_j \vec{v}_i \cdot \vec{v}_j) + \frac{1}{2} \frac{m_i^2 v_i^2 + m_j^2 v_j^2 + 2 m_i m_j \vec{v}_i \cdot \vec{v}_j}{m_i + m_j}$$

$$= \frac{1}{2} m_i v_i^2 + \frac{1}{2} m_j v_j^2$$

$$H = \sum_i \frac{1}{2} m_i v_i^2 + \frac{1}{2} \sum_{j \neq i} \left[\mu_{ij} \left(\frac{1}{2} v_{ij}^2 - \frac{G(m_i + m_j)}{r_{ij}} \right) + \frac{1}{2} (m_i + m_j) V_{ij}^2 \right]$$

$$= - \frac{1}{2} m_i v_i^2 - \frac{1}{2} m_j v_j^2$$

This doesn't seem to agree w/ Gonçalves - Ferrari et al. ... ☒ No, it does since this = $\frac{1}{2} \mu_{ij} \frac{1}{2} v_{ij}^2$!

But, it does agree w/ D. H's code!

Weird that it gives $-(N-2) \sum_i \frac{1}{2} m_i v_i^2$ ~~KE~~ terms.